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Figure S1. Boxplot for Pearson correlation coefficient (r) and Mean Absolute Error (MAE)
between estimated and observed values for the tree volume obtained with different machine
learning models: Artificial Neural Network (ANN), K-Nearest Neighbour (KNN), Multiple
Linear Regression (MLR), Random Forest (RF) and Support Vector Machine (SVM).

Accessing the best model for wood tree prediction

In Weka explorer it is necessary to load the .arff file containing the values of DBH and HT.
Wood volume values are unknown and should be indicated with "?", similar to the image
below.



=== Predictions on test set ===
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Open the Classify tab and click and select Supplied Test Set from the Test Options option.
Then right -click on the blank part of Result List. Among the options, click Load Model and
choose the file available from the link:
https://drive.google.com/drive/folders/11YDwz2Z5hiNdbGtEt7Y3 Syiljqn]XbO?usp=shari
ng.

Right -click on the model loaded with Result List and choose the option “Re-evaluate model
on current test set” as the image below:

FETCENEYE SpPiL AL wuiee .
DAP
More options... Ht
Vol
(s ol | === Classifier model ===

Start Stop RandomForest
Result list (right-click for options)

13:26:12 - trees.RandomForest from file 'rf mndal’
View in main window lonTree -K @ -M 1.0 -V

View in separate window et ===

Bagging with 100 iterations and base learner

Save result buffer

Delete result buffer(s) TRTL |
). Reading incrementa

Load model
Save model bt set ===

Re-evaluate model on current test set a

Re-apply this model's configuration

3
ve
Status
OK
Supplied testset | Set.. ] ‘I'l_ S S
(_) Cross-validation Fol | User supplied test set
Relation: pima_diabetes
i) Percentage split Instances: unknown (yet). Reading increment:

Harness the power
of data insights J

Make an impact

After that, the volume of wood will be generated by the available model.
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